FERREBRR
RE-TTAF=A=+—AILEE

KAFRESE AR
RENE 0|
BEx  ROBE iRk EARE 2ERE BERE RERE  2REN @y REER st
THT T THT THT T THT T T THT T T
(Kizt 25) (Hizt 26)
R=EZEEN A — B3 5,582 445,381 76,229 - 2,826 (1452) 25,120 342,983 896,669 24,378 921,047
SHRES T2 (Hiit3) - - - - - - = (1,890) (1,890) = (1,890)
RZEZEFNA—BE] 5,582 445381 76,229 - 2,826 (1452) 25,120 341,093 894,779 24,378 919,157
BERANNER B ZR - - - - 30 - = - 30 = 30
REMF 2 SHEH - - = 2,657 - - - - 2,657 3675 6,332
HEENRERR 2 RN FE - = = 2,657 30 = = = 2,687 3675 6,362
REERH (BE5) - - - - - - - 202655 202,655 17357 220012
TEEERRZMARAS AR = = - 2,657 30 - - 202655 205342 2032 226374
RENRREFEG-_2ZNE
RER-ETTE
RS METRR 91 26,943 - = = = (27,034) = = = =
RRRERS - - - - - - 30,932 (30932) - = =
BRRBRE - - - - - - 31,200 (31,200 = = =
BEERES - - - - - - (29,018) - (29,018) = (29,018)
AP ERFERZRE - - - - - - - - - (7,840) (7.840)
R_EERE=A=+—HE} 5673 472,304 76,229 2,657 2,856 (1452) 31,200 481616 1,071,103 37570 1,108,673
SHRES T2 (HiE3) - - - (2,657) = 1452 = 576 (629) = (629)
R-FFRFMA-RES 5673 412324 76229 - 2,856 - 31200 482192 1070474 37510 1108044
BEEBNEB R ZE
(ERRRIERR) - - - = 90,675 - = - 90,675 = 90,675
REFRF - - - - - - - 250269 250269 BM9 38
TEEERRZMARAS A% = = = = 90,675 = - 250269 340944 23449 364393
WERBAR - - - - - - - - - 4306 4306
RENBRREFEG-ZZ0E
RER-BERE
RERE MBI TRR 163 33780 - = - - (33,943) - - = =
REMR 600 175,200 - = = - = - 175800 = 175,800
BIAREERFRA - (5468) = = = = = = (5.468) = (5.468)
BETERE - - - - - - 37,331 (37.331) = = =
RERBRE (Fii12) - - - - - - 38,616 (38616) = = =
BEERRE - - - - - - (34,588) - (34,588) - (34,589)
R DR R ER RS - - - - - - - - - (9,800) (9,800)
RZEEAE=A=1-H 6436 675836 76,229 - 93,531 - 38,616 656514 1,547,162 55525 1,602,687
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